7 18 8 1
1,500
600
900

1,000

1,000

10

28 9 1

38 11 4

600

600
1,500

31



414

500
600
8 6
11 10
32 2 15
8
3
600
1 600
600
3

12

600

600

600

31



31

10

34

600

600

226
28 6 23
415

31 8

2 415

28 7 1
61 79
29 9 9 713
3
1
600
31 8 1
1 500
600 900
1



416

31

400

600

1 000

31

600

14

1 3
5
34 42
66 67
1 13 69 70 1
71 72 73 1
76 1 2 77
5 78 79 1 4
94 95 1 6
103 105 107
1 10 109
118 1 3 119
137 3 138
1 3 140 141
142 146 147
3 148 1 2 149
151 1 2 152
156
11 13
1 3 15 23
66 67 77
79 1 4 87
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90 97 98 100

102 105 107 110
115 117 118 1
119 123 125 129

132 133 135 136

137 1 3 138 139

1 3 140 141 1
142 144 146 147 3
1 3 148 12 149
153 154 156

79 1 4 3 5 8 2
2
10
25
28 9 1 600
31 7 18
8 1 600
900 8
8 1
1 500 5
25
8
8
31 8 1 21 17
3

600 10
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137



137

600

31 8

17
23

27 29

22

31

31 8

22

419



420

137

133

31

14

20

13

17

48
21

32

28

640

14

28

31

32 4 1
31 8 1

32 4 1

31 8 1

31
30
31
31 8 1
2
1
20

30
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31 8

20

165

149



422

21

48

15

78

16

52

27

58



20

49

423

55



424

62 9 10
31 32
670
670
1
31 8
1
2 1 1
30
670
600 1
1
31 8 1 600
31
8 15 738



2 425

500 900 900
1 100
17 1 10
887
27
1 000 600
31
1 729 2 046
97 98
100 133
6 1 330
2 500 99 103
30 31
68 8 1 281 29
2 657 31 28
32
30
68 9 1 274 31
2 019 25 30
36
9 31
151
1 2 796 31
1 989
36 6 7
48 150
31
31 8 1
1 000 151 1
2 1 31 8
27 31 8 1

1 000 39 11



426

31 140 1000
1000

154 31 8 1

31

31



429

52

16

900

52

14 1

53
30 9 13
31 8
400
31 8
1
30 6 33 5
1 040 8
8
16
200 10 110
90
30 6

427

12

33

400
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1 000

31 8

31

900

34

31 8 1

600

1 500

31
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